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POTENTIAL ENERGY DIAGRAM Name

Mixed Review: First, identify the type of run, then predict the products and balance the equation.

i

10.

CsHall) + o 2
Cliig) + AlBrs{aq)
Potential
Energy
Tafsy + HClfag) =
b
f
__ NW«CYaq} + ___ Pb{NOshiaq) >
w v v
AgNOslaq) + Mals) > Reaction Coordinate —
A+B <« C+ D+ energy

CHull) + ___ Odg) =2 Answer the questions using the graph above.

1. Is the above reaction endothermic or exothermic?
Mg:(POkilaq) + BaCldag) = 2. What letter represents the potential energy of the reactants?

3. What lefter reprasents the potential energy of the products?
i)+ PH(NOshiaq) > 4. Wnat lefter represents the heat of reaction (AH)?

5. Ejmm letter represents the activation energy of the forward reaction?

4. What letter represents the activation energy of the reverse reaction?
CaCllag) + Na,COs{aq) -

7. What letter represents the potential energy of the activated complex?

8, Is the reverse reaction endothermic or exothermic?
FeO (ag) + Culs} >

9. if a catalyst were added, what letter(s) would change?




